2
d)Y" h 2
=] =] = d d
vol_kegel(d,h) := 7 ( 2) 3 opp_kegelwand(d,h) := ’TT(E) (5) + h2

d\? 4 (a)
opp_halvebol(d,h) := 2~7T-(E) vol_halvebol(d,h) := Eﬂ(gj

opp_kegelwand(d, h)

opp div vol kegel(d,h) :=
pp_div_vol kegel(d,h) vol kegel(d,h)

opp_halvebol(d,h) + opp_kegelwand(d,h)

opp_div_vol tot(d,h) =
vol_halvebol(d,h) + vol kegel(d,h)

opp_div_vol norm(d,h) := opp_div_vol tot(d,h)-d

6+ 3

£(d,h) =

d+h

d=1 h:=0,0.1.d..10-d



35

32

29

26,

opp_div_vol kegel(d,h) 23

opp_div_vol tot(d,h) 20

£(d, h)

17

14

11
L\

als w

opp_div_vol norm(d,h)

VOV OV 11100 0000

abworbivinoo— rl o

h:=0,0.1.d..10-d

ol w

10



opp_div_vol norm(d, h)

NI T~1000000

QAW NO N N0 =IO

ol w

10

8.7

8.4

8.1

7.8
opp_div_vol tot(d,h)

7.5
f(d,h)

7.2

6.9

6.6

6.3

ol w

10



